


Higgs H ~ (1.2.27
T

fbuow
Hk Iucn! y

-L = lien!;#
* tiger.gl#tI;ar..g.eHthe .SM

EWSB

Lsm = (DUHHEH ) - VLHTH ) ViratHtt #HI

DmH=qHtighyEHtig'BµkzH
↳ MO



Lsm = Ignat tLsm""4- LEI't Lga . totem
.
. .

V -

- oilHt't blah d > ouko
Kay? o' uh - fad actual'
ft) -- (8) up sunk front . 820

t = Latif' +Pati" tog da , Pasek
T = +BAE +812



O- RH)⇒ BEBE 0 BET any da ta" g- tasty
Gsm →SubodhDem
12 - 9 =3 broken generators⇐ 3. Nkbonbons

← 3 massive vectors Wtf
H : 2K - HR -3=1physics d.of . : Higgs boson

5=1 : Gau won Bu

from IAH 12 → ltdmtasihnwwaetwn't M¥-214
try



Wwi 927' n'zest't' y±=wuwi
VL

E-sinowwansy Zu=9÷YEcwwfswB,
Hwa 80GW 92 An = g' wa'tgBµ
Eteaiaw Fair ←
Stroll

f=I÷m
,

I lean - Ito#
1-reeked e=g§§⇒n=gosOw=g' Snow



Dµ=&tigsq*tiHwatttthf-T-ltieQAm-fwmwuoa-fqu.protifzltz-swo.kz

:*. :*:::



8=0 : It G±=Gsz
V2

era a'''anti; t.it ⇐ as
unitary gauge 9=0 H -- ( fifa)
V -
- const t M¥42troop't} y' ma? stu

420.125


